Question # 1 of 10 ( Start time: 03:14:14 PM. 28 November 2017 ) Total Marks: 1

Pattern . Variable
Upaon successful completion of pattern matching, the substring matched by the pattern is assigned to the variable as

Select the correct option
Value
o CORRECT ANSWER SOLVED BY HADI
. CELL NO : =923228043306
- EMALL : usmanraj20@gmail.com &
String

@) p

Integer

Real numbers

S MADE BY HADI

b
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Question # 2 of 10 ( Start time: 03:15:37 PM. 28 November 2017 ) Total Marks: 1
Block statement in Ada is very similar to a block in
“~
Select the correct option
SNOBOL
O “
c CORRECT ANSWER SOLVED BY HADI
X CELL NO : +923228043306
. EMAIL : usmanrsj20@email.com p
FORTRAN

Both SNOBOL and FORTRAN
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Question # 3 of 10 ( Start ime: 03:16:45 PM. 28 November 2017 ) Total Marks: 1
LISP was basically developed to solve problems
g
Select the correct option

Artificial intelligence

CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@gmail.com

Accounting

O y
Scientific

O p
Business
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Question # 4 of 10 ( Start time: 03:18:39 PM. 28 November 2017) Total Marks: 1
Learning curve is proportional to the number of basic components.
%
Select the correct option
directly ~
CORRECT ANSWER SOLVED BY HADI
. CELL NO : +923228043306
EMAIL : usmanrajl0@gmail.com P

O

indirectly

bath directly and indirectly

neither directly nor indirectly

MADE BY HADI




Question # 5 of 10 ( Start time: 03:20:05 PM. 28 November 2017 )

Total Marks: 1

“Everything for everybody” was the mative of the language

Select the correct option
COBOL
O “
LISP
O y
PLA

Check please

JAVA

MADE BY HADI
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Question # 6 of 10 ( Start time: 03:21:47 PM. 28 November 2017 ) Total Marks: 1

SIZE function in SONOBOL language is used to return the size of

Select the correct option
String
I CORRECT ANSWER SOLVED BY HADI
. CELL NO : 923228043306 y
FMAIL : usmanraj20@gmail.com
Operator

@) y

Variable

ol™ MADE BY HADI
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Question # 9 of 10 ( Start time: 03:26:44 PM. 28 November 2017) Total Marks: 1
Which of the following is true about Dot operator (.} in SNOBOL?
4
Select the correct option
Unary operator -
CORRECT ANSWER SOLVED BY HADI
. CELL NO : ~923228043306
EMAIL : usmanraj20@email.com “

O

Binary operator

Reference pointer

Class pointer
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Question # 10 of 10 ( Start time: 03:27-48 PM. 28 November 2017 ) Total Marks: 1
COBOL was the first language that brings the conceapt of

Select the correct option
Records

O “

Structure
CORRECT ANSWER SOLVED BY HADI
. CELL NO : -923228043306 P
EMAIL : usmanraj20@gmail.com
Chbject

N MADE BY HADI






